INTEGRATION

## Integrate the following expressions:

1. Jde

_ J(sz _5)dx

N

_ J(x—?)dx

w

N

_ j(x+1)(2—x) dx

o1

_ j(sx—z)2 dx

(9]

) J(x8—4x3—x) dx

oo

_ J' (1—x"1/3) dx

dx

©

'[3+2x2
XZ

ANSWER KEY

1. [5x+C]

5. [3x3-6x2+4x+C]

[2x2—3
X

13. [-\E +C]

16
17. [E]

+C]

21. [%@,xs’?w]

10.

Jx&dx

J(l—%jz dz

11.

12. [(x++a)? ox

dx

xa/2x

y

1

w

14. j(x&—5)2 dx

15.

3
'[x -1 dx
x-1

1

16. |-
0

2
17, I(2x+ x?) dx

-2

2. [x}-5x+C]
9 1
6. [% -x4= §X2+C]

2 2
10. [¢x*4/x +C]
X4
14. [T—4x5’2+25x+C]
18. -1
12

22. [% (x*-2)°3+C]

X
3. [ -7x+C
g ]

7.

11.

15

19.

23

2

## Evaluate the following integrals :
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## Evaluate the following integrals :
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## Integrate by using the substitution
suggested in bracket.

1 .[sin3x dx, (use, u=3x)
2. .[ xsin(2x?)dx,, (use, u=2x3)
3. J sec2ttan2t dt, (use, u=2t)

tY .t
4, J.[l—coszj smEdt,

1
(use, u=1-cos E)

5, Jx3(x4 ~1%dx, (use, u=x*-1)

r, (use,u=1-ro)

6. '[\/——r
7. I—cos[ jdx (use,u= i)

## Integrate by using a suitable
substitution.
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## Definite Integration.
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## Calculation of area

Use a definite integral to find the area of
the region between the given curve and
thex-axis on the interval [0, b]

20. y=2x

X
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21. y > +
Use a definite integral to find the area of
the region between the given curve and
the x-axis on the interval [0, ]
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## Find integrals of given functions.
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## Integrate by using the substitution
suggested in bracket.

33, j 28(7x—2)° dx, (use, u=T7x-2)

34, '[ 12(y* +4y? +D2(y® + 2y) dy,
(use, u=y*+4y?+1)
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(a) Using u=cot 20
(b) Using u = cosec 26
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(@) Using u=5x+8

(b) Using u= +/5x+8

## Integrate by using suitable
substitution.
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